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A dealer quotes the price of a commodity as £15000.00 plus sales tax at the rate of 5.00% . Find the amount that
a buyer has to pay to buy that commodity.

(i) X15748.00 (ii) X15750.00 (iii)) X15751.00 (iv) X15752.00 (v) X15749.00

The list price of a commodity is ¥14000.00 and the shopkeeper gives a discount of 16.00% . On the remaining
amount, he charges 2.00% sales tax. Find the final price the customer has to pay to the shopkeeper.

(i) X11993.20 (ii) X11995.20 (iii) X11994.20 (iv) X11996.20 (v) X11997.20

If the marked price of a commodity is X7000.00 and the rate of sales tax is 3.00%, the sales tax =

(i) X222.00 (ii) X197.00 (iii)) X205.00 (iv) X210.00

If the marked price of a commodity is 6000.00 and the rate of sales tax is 2.00%, the selling price including sales
tax =

(i) X6300.00 (ii) X6120.00 (iii)) X6090.00 (iv) X5940.00 (v) X6280.00

If the price of a commodity inclusive of taxes is X17680.00 and the rate of sales tax is 4.00%, the marked price =

(i) X18400.00 (ii) X19800.00 (iii) X¥17000.00 (iv) X14300.00 (v) X15700.00

If the price of a commodity inclusive of taxes is £11220.00 and the rate of sales tax is 2.00%, the sales tax =

(i) X235.00 (ii) X222.00 (iii)) %206.00 (iv) %X220.00 (v) X212.00

If the price of a commodity inclusive of sales tax is ¥20400.00 and the marked price is ¥20000.00, the rate of sales
tax =

(i) 1.00% (ii) 3.00% (iii) 2.00% (iv) 0.00% (v) 4.00%

If the price of a commodity inclusive of sales tax is ¥16500.00 and the marked price is 15000.00, the sales tax =

(i) X1420.00 (ii) X1650.00 (iii) X1520.00 (iv) X1500.00 (v) X1270.00

If the marked price of a commodity is X7000.00, the rate of sales tax is 4.00% and the rate of discount is 18.00%,
the sales tax =

(i) X214.60 (ii) X212.60 (iii)) %241.60 (iv) X245.60 (v) X229.60

If the marked price of a commodity is £13000.00, the rate of sales tax is 10.00% and the rate of discount is
9.00%, the selling price =

(i) X13630.00 (ii) X14330.00 (iii)) X11530.00 (iv) X9230.00 (v) X11830.00

If the marked price of a commodity is ¥18000.00, the rate of sales tax is 6.00% and the rate of discount is
10.00%, the discount =

(i) X1650.00 (ii) X1670.00 (iii)) X1980.00 (iv) X1800.00 (v) X2040.00

If the marked price of a commodity is £14000.00, the rate of sales tax is 8.00% and the rate of discount is
13.00%, the selling price including sales tax =

(i) X11454.40 (ii) X14754.40 (iii) X15854.40 (iv) X13154.40 (v) X11654.40



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

If the price of a commodity inclusive of sales tax is ¥15895.00, the rate of sales tax is 10.00% and the rate of
discount is 15.00%, the marked price =

(i) X14200.00 (ii) X19400.00 (iii)) X18700.00 (iv) X15800.00 (v) X17000.00

If the price of a commodity inclusive of sales tax is ¥4895.00, the rate of sales tax is 10.00% and the rate of
discount is 11.00%, the sales tax =

(i) X418.00 (ii) X445.00 (iii)) X470.00 (iv) X432.00 (v) X453.00

If the price of a commodity inclusive of sales tax is ¥14994.00, the rate of sales tax is 5.00% and the rate of
discount is 16.00%, the selling price =

(i) ¥16080.00 (ii) X14980.00 (iii)) X14080.00 (iv) X11580.00 (v) X14280.00

If the price of a commodity inclusive of sales tax is X16957.50, the rate of sales tax is 5.00% and the rate of
discount is 15.00%, the discount =

(i) X2990.00 (ii) X2850.00 (iii) X2680.00 (iv) X2920.00 (v) X2570.00

If the price of a commodity inclusive of sales tax is ¥5678.40, the marked price is ¥6000.00 and the rate of
discount is 9.00%, the sales tax =

(i) X234.40 (ii) X206.40 (iii)) X218.40 (iv) X231.40

If the price of a commodity inclusive of sales tax is ¥4437.00, the marked price is ¥5000.00 and the rate of
discount is 13.00%, the selling price =

(i) X4580.00 (ii) X4350.00 (iii) X4070.00 (iv) X4380.00 (v) %X4300.00

If the price of a commodity inclusive of sales tax is ¥14805.00, the marked price is 15000.00 and the rate of
discount is 6.00%, the discount =

(i) X926.00 (ii) X902.00 (iii) X893.00 (iv) X884.00 (v) X900.00

The price of a commodity inclusive of sales tax of 8.00% is ¥864.00. If the sales tax is increased to 14.00%, how
much the customer has to pay ?

(i) ¥51.00less (ii) ¥48.00more (iii) ¥45.00more (iv) ¥51.00more (v) X48.00less

The price of a commodity inclusive of sales tax of 5.00% is X1785.00. If the sales tax is decreased to 1.00%, how
much the customer has to pay ?

(i) X68.00less (ii) X71.00less (iii) X65.00less (iv) X68.00more (v) X71.00more

A shopkeeper buys a product at a discount of 3.00% from a wholesaler. The printed price of the product is
X13000.00 and the rate of sales tax paid is 7.00%. The shopkeeper sells it at the printed price and charges tax at
the same rate. Find the VAT paid by the shopkeeper.

(i) X28.30 (ii) X25.30 (iii) X27.30 (iv) %X29.30 (v) X26.30

A manufacturing company produced a machine and sold it to a distributer for X14000.00 not including tax, tax
rate being 6.00%. The distributor sold it to a retailer for $21000.00 plus tax of X1260.00 . The retailer sold the
machine to the consumer for 26250.00 plus tax of X1575.00 . Calculate the total amount of tax (under VAT)
received by the State Government on this machine.

(i) X1745.00 (ii) X1415.00 (iii) X1575.00 (iv) X1405.00 (v) X1615.00
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A person buys the following items from a departmental store : electronic goods of worth ¥1800.00, cosmetics of
worth 1800.00, vegetables of worth X1000.00, fruits of worth 800.00. If sales tax is charged at the rate of
5.00% on electronic goods, 6.00% on cosmetics, 2.00% on vegetables, 7.00% on fruits, find the total amount to
be paid.

(i) X5524.00 (ii) X5504.00 (iii) X5754.00 (iv) X5674.00 (v) X5794.00

A person wants to buy a commodity which costs X1060.00. The rate of sales tax is 6.00%. The person tells the
shopkeeper to reduce the list price of the commodity such that he has to pay only 1060.00, inclusive of sales
tax. Find the reduction needed in the price of the commodity.

(i) X65.00 (ii) X55.00 (iii)) X57.00 (iv) X60.00 (v) X63.00

If the price of a commodity inclusive of sales tax is ¥15065.60, the marked price is ¥16000.00 and the rate of

6.
discount is 12.00%, the rate of sales tax =

(i) 9.00% (ii) 8.00% (iii)) 7.00% (iv) 5.00% (v) 6.00%
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